

### SCHOOL OF ICT

COURSES	DURATION	PER MONTH	
Software Development	5 Months	6,000/=	
UI/UX Design	3 Months	5,000/=	
Digital Marketing	2 Months	4,000/=	
Graphics design	5 Months	4,000/=	
Website design (Coding)	5 Months	5,000/=	
WordPress Web Design	2 Months	5,000/=	
Video Edditng	2 Months	5,000/=	
Social Media Marketing	1 Week	3,000/=	
Programming Languages (Python, Java, Html &CSS,)	3 Months	4,000/=	PER LANGUAGE
Data Analysis	5 Months	5,000 /=	

Cyber Security	2 Months	10,000/=	
Computer Packages	2 Months	2,500/=	
Artificial Intelligence (AI) Course	2 Weeks	4,000/=	
Data Science Course	Full-Time: 8 Weeks	17,500/=	
	Part-Time: 12 Weeks	13,334/=	

#### OTHER REQUIREMENTS

1. Registration fee Ksh. 500
2. Internal exam fee Ksh. 2,000
3. NITA exam fees 8,500 (Oponal)
4. Copy of ID / Guardian's ID
5. 2 passport photos
6. 1 Spring file

**NB: FREE COMPUTER CLASSES**

#### GERMAN LANGUAGES

COURSES	DURATION	FEE PER MONTH	TOTAL FEE
A1	2 Months	11,000/=	22,000
A2	2 Months	11,000/=	22,000
B1	2 Months	11,000/=	22,000
B2	2 Months	11,000/=	

SCHOOL OF HAIR AND BEAUTY			
COURSES	DURATION	FEE PER MONTH	
CERTIFICATE IN HAIRDRESSING	6 Months	4,000/=	
CERTIFICATE IN BEAUTY THERAPY	4 Months	4000/=	
CERFICATE IN NAIL TECHNOLOGY	1 Months	5000/=	
CERTIFICATR IN FULL COSMETOLOGY	8 Months	5000/=	

### OTHER REQUIREMENTS

1. Admission fee Ksh. 500
2. 500 for a school apron
3. salon towels
4. Copy of Id / Guardian's ID
5. 2 passport photos
6. 1 spring file
7. Internal Exam Fee ksh.2000
8. NITA exam fees 8500(oponal)
- 9. Note: Free Computer Classes For All Students**

ADVANCED COURSES			
COURSES	DURATION	FEE PER TERM	TOTAL FEE
Software Engineering	12 Month Attachment	25,000/=	Per Term
Website Development	12 Month Attachment	20,000/=	Per Term
Graphics design	12 Month Attachment	20,000/=	Per Term

#### OTHER REQUIREMENTS

- Registraon fee Ksh. 500
- Internal exam fee Ksh. 2,000
- NITA exam fees 8,500 (Oponal)
- Copy of ID / Guardian's ID
- 2 passport photos
- 1 Spring file

**NB: FREE COMPUTER CLASSES**

SCHOOL OF HEALTH SCIENCES			
COURSES	DURATION	FEE PER MONTH	TOTAL FEE
PERIOPERATIVE THEATRE TECHNOLOGY	1 YEAR	6,667/=	80,000/=



**Phone:** +254746072315

**Email:** [info@zttc.co.ke](mailto:info@zttc.co.ke)

**Website:** [www.zttc.co.ke](http://www.zttc.co.ke)

**Address:** Spine Quest Ventures Building, Opposite Shujaa Mall, Kayole Spine Road

HOME-BASED CAREGIVING COURSE	4 Months	11,250/=	45,000/=
NURSING ASSISTANT COURSE	6 Months	9167/=	55,000/=
CERTIFIED NURSE ASSISTANT (CNA)	1 Year	7,500/=	90,000/=

#### OTHER REQUIREMENTS

- ✓ Admission fee Ksh. 1000
- ✓ Copy of Id / Guardian's ID
- ✓ 2 passport photos
- ✓ 1 spring file
- ✓ Internal Exam Fee ksh.2000
- ✓ NITA exam fees 8500(oponal)

**Note: Free Computer Classes For All Students**

